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seell wraAl wausion il g el e ulaniy i 97
(A) dotFld

(B) @it

(C) (2

(D) 2 AR uqekUiMl 1o uldoilie o)

001.

002. il wllecuedt Ui »

A wte M o] -l ezl
A5t [\5-{1‘}5 5[0{2{_ all ‘D_llfiﬁ_[d q.ti'»;t'_-p_ Mzl 2l 52414
il wt sdHi dAwa o

Hell 24 2leeasggetl wigal apaniton sringal eel?
(A) slq eurm

(1) sl1 zana2y
(C) sla e Dy =zl [zal

003. MS PowerPoint Hi 515 =559 WA S Sl ue sl il-;_—[%’:"l'ﬂ
Guuldl swami »ud @7

J(A) Tools — Hide Slide (B) View — Thde Slide

(C) Format — Hide Slide () Slide Show —» Tlide Slide

004, {13 zuldd sdssi Al A ondl

(a) Yerad WU Geuq (1) sz

(b) endl 3Ry Uy (2) wilfzz

(c) ybiler, stous (3) ulem ol

(d) }qarza wlu Gae (4) U

AT b-1, d-4, c-2, a-3 (B) a-1, ¢-3, b-2, d-4
(C) a-4, d-3, c-1, b-2 (D) b-1, ¢-3, a-4, d-2

005. 10,000 3Ledl 12% AWl | el 2sglg cavd wa 9 am? (2an0 22 19
Uléd GHY)

(A) 11326 3L (B) 11236 3L
_(€) 11623 3L (D) 11263 3L
006. <l »uUq WA Aot WY W2 Vs wor welld quil, dzdl you sl
ooyl 214 - '
(A) ¢ld (B) wiion)
(@) 22R3M (1) 2102

007. Select single word for the following phrase:
“That which cannot be rubbed off”

(A) Incredible (B) Indelible
\{C) Inedible (D) Irrubbable
008.. R4l Accta ozl slad am -Mguq‘l. :
(A) 202 xidl ansd (B) sl Yol ya)
(C) Fedleedl o2 1) sedldle 24
RTE-B | 121 | | Contd...
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009. <l 2ulet Qs W2 wld [l Andazle wid moudl Zbza gz
qud orRudl.
aifland st W2 dHUL Uie @ Wd iy wid o A,
JA) sl ¢ 2Aq 2llawnd sids g oarst,
(B) Wie ¢ dq 2llawud édar siug 2avn.
(©) 2hllawoud sy wie @ wlg sids wuud nazwl.
(D) 2Wlawud édal wie ¢ g sids wuq s

010. Change into passive voice:
They asked me my name
(A) My name is asked by them.
(B) I asked my name by them.
AC) | was asked my name by them.
(D) I am asked my name by them.

011. A culdd odssi dloy A 244,
(@) ‘oveidledl oA AWl AR o} 3 dla’ (1) #l

B) ‘¢ A udl e ® wudl’ (2) ¢l za
() ‘Al 8 2 adl B dead uikdl @dl B’ (3) ollaizse
(d) “we dld o A ad wie s’ (4) <
(A) a-1, b4, d-3, c-2 (B). d-2, c-1; b4, a-3
(C) c-1, d-2, a-4, b-3 (D) b4, a-2, c-3, d-1
012. ‘gz w1 el B 8 qasued win B7 =
(A) HUldl 29 ~(B) Wdldl s % [66
(C) 2oRIcl «liy (D) uadlig T L2y
013. clu-aui 53 ogar ¢lu ddl ieuadi ............. 8. - |
1 ’ .
(A) 0 (B) )
1 2
B = ®)

014. GiRHl d-sizyaedl [y r-dslvldl Jedls U weq 8,
dul [y uzami s, didesd-edl @R waldl wddl ey zigh
Bagulladl acudl oy yubug 9. AaRidui 21 dgladl 2ady ydal
adal sl [reanidl und auw edi?

(A) Yirsdk [orecl (B) ®ladR [Brea)
E) oz [sredl (D) »¥elale [Brel
RTE-B | (3] [ PT.O.
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015. 2ild ot 2 [Qseuluid]l wweuel w0z onoudl.

Ald - _
(A) #d B) ez
(C) A4 (D) [l

016. dl. 22 oyetsS 1947 «lt Aoy A @urasll ot uni @izl 22tase]
wiedll Ml s Slel GRU WY SAML 2U2ALT _
(A) Wil g | (B) UER ACAMML) U2d
JE) vl «d (D) 4l US/~g UAIE

017. Find correct spelling.

(A) etiquete : (B) ettiquette
_AC) etiquette (D) ettiquete

018. <A eulde oAssi wlw Ad oAdl. )

(@) A «lolid omzae - sl (1) 2iRel [oreeil
(b) sl sandldl slof - «il 2) @3 [oveal
(c) tulfizd Hgiead My Ry - [Hd#R (3) Usysle [redl
(d) uld 18 a¥ eRridl jomond a0 - CUEd  (4) HlUE [redl
UA) a-4, b-1, ¢-3, d-2 — (B) b-1, ¢-2, d-3, a-4

(C) c-3, d-4, a2, b-1 (D) d-2, a-1, b-3, c-4

019. v 2ol AEcudl suqvls 2dld Aagqar duis =il gl Aal-l
YYH «qdsdlg A orQual, -

(A) ydri ~ (B) iyl
(C) A 24 B oid T (D) 2una Ul Bsur Al

020. s quilal 3Mu 4000 <l W vilEl il Wwa 10% «siell G2
ousldl Wia deai ost «siell dudl oA 3 el Wad 25% 51 wwm?
(A) 20% (B) 30% |
(C) 40% (D) 45%

021. iyl UIlecliddl Gz M Skl wudq  epRyug y[aalRiglui
didsaiElll grl el olg lloloRdl 2xds [N Rendlddl el
Aqudl. 1 yYlaaRiEZl s [Garui »ida 97
(A) 824 \UB) sig2
(C) ARMEL (D) <ig1

022. g woedl Al 2l wdl : dcaeuu
(A) &4 + 2 (B) &d_+ U6y
(C) da + M YD) dd + MY

/ = ) 4
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023. Give plural form of : ‘index” (sign in algebra)
(A) indices \,(B) indexese
(C) indesis (D) indexis
024, Avudl Mudl WMead ag uenswll odiadl dxsr 2svaidl il
UAR &RL AUEA WS 4o 2 el AuR sz el
At URNE ] Radl sral 20l 8. 2 WA grl 2] Ml usilaq
Al 2d 97
(A) dogyle (B) cifisusiat
(C) Wl (D) A0RId 3R
025. MRAdl A Asiiedlole Al wds Yorwsdl W sul, w4y
zaldl R 53 Aoy clisl Rl ddd BEE wel wuami v »u
ollotctel el «{lAdl odgst oAsL.
(a) 99 ArUlSs (1) Glstieus uejel
(b) il SlRud €za Al (2) kR e yea
(c) U [Eaads ueu (3) Mg 2l
(d) oot oietigqidl el oidiadl yRast (4) MM gL aul
(A) c-1, a-3, b4, d-2 \B) b-1, c-2, d-4, a-3
(C) a-3, d-2, c-4, b-1 (D) d-4, a-1, b-2, ¢-3
026. uuH Wi Wlas e Avarddl weRl ... Y. 23 77
(A) 3.6 (B) 7.8 —
(C) 34 Py 5.6 S
027. HSIGRAdAL YegHi sl ¢l Bl SRdldl Asyed QledR Ul
[RHYAL Hldld A orQual. |
(A) Yeist - (B) 2l
(C) iyl ‘ (D) ual4RL
028. <Al Heurue dlil UM 8y Geggl «dl?
(A) el (B) @oy«l 3soll
(C) R (D) Qs
029. Put proper Question tag :
Everyone stood up, ............... ? 7
(A) didn’t they «B) did he
(C) wasn’t he (D) were they
RTE-B | [5] | P.T.O.
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030. 2ovRict sl (@ PH Eadl Govanll videla wzauglnal Fse e
Wl aizd Aol 9 Al orudsR xjedlal Al wsed oteirdl sl
AMiBd Az WA gl AU WuPL dlsvai wud 9. Bl HELHA
58 aArluidl Aoy dlovami 20 87
(A) 14 3R] (B) 22 [si3o1z
(C) 28 ¥l (D) 27 W

031. s dudlal 45 4Rl 40 UL AUl 20% w2 oau B, dl 20% sl
dat Uil M 24 wiodedl el dudl odswi?

(A) 16 ‘ (B) 18
(C) 20 (D) 22
032. A culda oAssi wiw d sndl.
(a) WSS (1) e clolsy
(b) %M 2[5y 2) A Hid
(€) $WyR (3) A di2
(d) 2[&us (4) . orein
(A) d-1, ¢-2, b-3, a4 (B) a-1, ¢-2, d-4, b-3
(€) b-3, d-2, a-4, c-1 (D) c¢-2, a-1, b-4, d-3
033. ddidlallA s @R, B qu oflv 3E AvaL ASHL A s
WSRAL AR gsld wulla 6 quidlavid &14q oA,
(A) uuslA YB) HIHAAERHA

(C) cugsl Uardsl uyuisilul (D) sds2ra{lA

034.  ‘[Enarzuld’dl Aenidadl yedl Aaqqar wur wRcusr, udus, Auies
vd ARAQULs sl wrlld Y2 A ergudl.
(A) Juadid sipeus il (B) M siellim
(C) 3uqald sBdMUEe Wl (D) JARM Sie2AH W

035. Give the first Verb form of:
bereft . '
AA) bereave (B) bear
(C) barefoot ~ (D) beareve

,036. AR wselR or#llemi Unsedldl 2dad addllA A skl 8 97
(A) sas24(ld
_B) WHddersld - .
(C) agst Rs wfislsla ’
(D) 2unedl uuH Yasid dd4r wsEl 2RslslA
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037. ‘slldzadl 4oaa 8 Houw wszor duisdl 569 dqasamidl dami 212

97
HA) 215R1d-l <Y (B) yladeam
(C) wewtdl ueMdl (D) vy 2AlHeAlY
038. 1 AL 4R (sq. yard) = ............. ALYl (sq. metre)
(A) 0.931626 (B) 0.836126
(©) 0.891263 (D) 0.983126

039. ARUd ABR GRL Asedell AUHSIAL/ASR 21 2R 2zl il 21Llot
goll w2 Al wide2 R quuadl dlor oAsgl R 58 ol Bl
olelddiil 2 97

(A) 2R sadlla dior<il (B) Ai/adR 2nawry dley oyl

(C) vigll ulsy«il () A4ust dlovoilsiel dloyeit
040. <l caldd odgsi dlow dld sddl.

(a) digsdl [quul (1) Rlwore

(b) Mieid 2R &lluzl (2) Adl&ul

(c) 3[R sudl dlus / (3) dll-cllw2s

(d) a-(Relda alus — 7 (4) sd desReAR

(A) d-1, ¢-3, a-4, b-2 (B) a-2, c-4, d-1, b-3

(C) ¢-3, d-2, a-1, b-4 (D) a-3, b-4, c-2, d-1 .
041. ‘oisiolsl Avll Ald ¢ wadl Hl A’ - b s Seni 97

A) HElsicl (B) yel . o

(C) sRafla (D) Ryl
042. usiaqyd suedl sy 9?7 |

(A) w2 Hudlsl B). ¥ Al

(C) #$U WALl (D) usl2 Hiudiedl

043. Select single word for the following phrase:
“Government based on religion”
(A) Diarchy \(B) Theocracy
(C) Plutocracy (D) Aristocracy

044. llaglla dovidaed Hecasisll Wovs2 W ’q sl el 58 uedl iadld
SAML 2dl 2&] 97 . |
(A) l-[aes 2lsadla 4 gR QAR 2l 2z (Rou) sudl @,
(B) Hgl-[ackor bl 3R ouitllor 2es viugiae (dou) sudl @
(€) Hgl-[aes s sk AR hes i (o) sudl [
(D) Wl-[ador sudy A gk 2R wes viugrae (o) sudl (@,
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oy d<ls 5L lecustiz Hied

045, AgorRidl [aami dloledl @l wan nele
qul el ?
(A) sellcdlest €0l
(C) AUHARIGL MLES

(13) s _»L-wll
(1) Conedse eall

; . w3 _ e Y
046. 46 AU SRl 20% wudl B, dl Alvie 4G sl goeql 2510 WAL D0
(B3) 20

L) 25

(C) 16 % (D) 12.5 1
047. A saldd odssi wlou A sdsl.

(a) olidley (1) slar

(b) sl 2) Raa

(c) [l (3) 25l

(d) &R (4) Ul

(B) b-1, a-3, c-4, d-2

(A) a-1, c-3, d-4, b-2
(D) d-1, b-2, c-4, a-3

(C) C'31 d'19 3'2, b-4

048. <lqmidl wgalasléla ged olarel - YA 8 97
(A) o A o A 4 4 (B) 4 ¥ » & @l
(C© 4 A orAddol (D)% 2 6 4 ui

3 oyoudd Aniuigl s usiqenad Gurapguldue weul olle av2ula

ofellell VAU UYL U YUL?

(A) RAPRUAIE
() dldl. =il

049.

(B). dlan iwa 3l
(D) 2l Al

050. Give opposite gender for : ‘Bullock’
(A) heifer (B) bully
(C) calf (D) colt

051. Modem 4 43 < g 87
(A) modulo-demodulo
(©) modulator-demodulator

052. s sl A ¥ B Rdl oHQl adl 8. ad @on Hold 4 s 24
Gawdi Yo R O dl A 4 Asclid d S Y2 Rl dedl [Ean awvi?

B) modulation-demodulation
(D) modulating-demodulating

(A) 30 (B) 32
() 36 (D) 72 %
L-\
RTE-B] [8] | Contd...
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053. <A w2la noe W2 3BRuAAAl WAl vl qvil,

Wi amgdl -
A) ald qaugdl (B) ol s2dl
(C) vk wigdl (D) sadud sl
054. ....oveneneen man is mortal.
(A) a (B) an
(C) the (D) article not required
\/ L
055. <l eafda oAssi diou Ad sl
(a) Gy« gl ' (1) Her
(b) edwg seddl (2) RIS
(c) Y54 w2HL (3) e
(d) /YR € (4) Haldu
(A) b-4, a-1, c-3, d-2 (B) a-3, c-4, d-2, b-1
(C) d-3, b-2, a-4, c-1 (D) c-4, b-3, d-1, a-2
056. ‘SRil Mgl REE AR edl’ - VL UM sul iR 97
(A) Vi . (B) ADARIULIL
4C) GuHL (D) Geuall

057. o1 NOIDA %0t 39658 Sl¢ gl tdlacdidi 2ud dl INDIA %0E Hl2
sdl sis ealdl aswm?

(A) 36568 (B) 63568
(C) 63569 ‘ (D) 65368
058. 5, 8, 17, covveriinnens , 37, 48 vedl is Quil.
(A) 25 ¢B) 13
(C) 24 , (D) 20

059. «{lAdl il dldl €Rd vsdl AHRL oAl
Adsid, 3u S QB =l a4 o,
Ay ladla acyzm | (B) UMl dAcyM
(©) adbu dcyzy (D) AdAl dcym

060. Arrange the jumbled parts and make a meaningful sentence :
 Twenty-twenty final / played with/team spirit/so /could win/ we / we.
(A) We could play with team spirit so we win twenty-twenty final.
(B) We could win twenty-twenty final so .we played with team spirit.
(C) We played with team spirit so we could win twenty-twenty final.
(D) We win twenty-twenty final so we could play with spirit.

RTE-B | \ 9] | P.T.O.
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061, disvdzii “Isid Hslel i wied s Audlll seant olld” il
Afsidl qamdl, e s et Wiz Al disba @A samt wAl?
(A) Aeteddl saedofl seo 2 (3) el seanat »uie k4
(C) abts »uzion Aeqedzl 2u (D) A<aedZl »uzld 24
062. orudl Sl W2AR A U S2AL Ador UL dlltsl vi{ﬂﬂd Al
{wam’l Alecud disfin adiadiz Alecasizd walsraum gasiEss Sl
Yragel KAWL 209 9. Bl Bl 57 2zul gkl slad wan} v 97
(A) ARl Allecr ulue (B) v Allect »isizsl
(©) Asrud [Enzen (D) A 2fect ae
063. 2o #WSR gkl agul a4 [l sl swdl wzal ] calsdad
3L1.00 ardl s yasik »udl aedifdad s2ami »ud 90 il dlsr,
A QU .
(A) HeldR @aem iaid (B) el v.qnﬂ Y2ER syl
(C) HerdR 2apil ®agu »idil (D) el »idls
064. o 2Badl dousd 185 {x wa 215 {2z B, dwildl Asu 2dsH 50
G Afl [ 2 40 Ball/s. ®. or 24 [Breg Fami amiae ada w
€ 8, dl d2al wHuml sisofload uAE sedl? ‘
(A) 12 3As<s (B) 15 2is«s
(C) 16 3s<s (D) 1 #llz
35 7 4 4 4
065. =, =, —, —, — { IETEIENE | alu\
791177 9’
(A) = ®)
2 693
347
C) D) =
©) 53 ®) 4
066. 4 ABCD Hi A =26, SUN =27 & dl CAT = oo,
(A) 24 (B) 27 .
(@) 57 (D) 58
067. <2 24 sdacdl el 21 Wl
Y Rl 4w ORI
((AY @i ¥aR 91 adladl.
(B) amRadlv] 31 clud epid Wsadl,
(C) suln seudini 2,
(D) @4 W2 ot R mia seiadl.
RTE-B | [10] | Contd...
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068. My work ... over, | rushed out 1o play cricket,
A) has been (13) had being,
(C) have been (1) having been

069, ARwAl dqazllenn vad oz vl g6 wuAa 59, widle Y514
Al swrAm art v od el [@An usiza amlla 2o o wd
WgLstell RPUHE Gulall dlaedl Gedul szl wuAa 19, win YLl
UGHRAVISHT DL S8ell Ul ] Gednl 53l wuedl 97
(A) Grove §¢ (B) dclzs ¢
(QRETELTIET (D) delocet 55

070. <A culde oAssi wloy LA ondl,
(@) 4 «eldl (R 21da URlg 2qo-alsl (1) EHeE (el
(b) oRrM-&st wgllal §¢ tad uddoue eum-qadlant (2) woesizl el
(©) Yl wdueand auidg udr-liuador  — (3) sizell (el
(d) ARy wAsIHl auwdd WEAIR 2ad=Ainidz - (4) ofl2 A [red)
(A) a-3, b-1, d-2, c-4 (B) b-4, d-1, c-2, a-3
(©) d-1, c-4, a-3, b-2 (D) ¢-2, a-3, b-1, d-4

071. MS Word ui Ul 249 el usmell szar w2 59 Zsud Sldl Gudis
KA 219 7
(A) F6 (B) F7
(C) F8 (D) F9

072. 3.5 H{lx Brocrtanoll 30 22 Gl As dasr wid vieami sud 9,
Auidl flsaedl wlwidl 30 {2z dous A 10 M2 uGlouSdQl wwo
2lecl ol A9 8. dl A dedl GRuSdl lodl el ?
(A) 3.85 Hl= (B) 2.28 I
(C) 0.385 ¥l (D) 3 ¥R

073. dJoricdl sk ol WdRous DA vzl ‘wells A c
YRed KRAML eul 2 A 2 YRAR gL AR 516U Bieciil
Vdid AU 21d 9 7-
(A) Rie o7 yRaR (B) v o7l YRAR
(C) W e URaR (D) auded ot YRAR

074. 1 usi4 af = ... AU. (ddbllsa yla2)
(A) 63000 (B) 5300
(C) 9412 x 1010 (D) GuRls Ul Asyg «dl

RTE-B ] [11]
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075. <lAmidl s woedl oasull wwl 97
(A) 2ilaRlsa (B) efd.
(C) [e&lla (D) Higsu)
076. sdsesllal »nfla 3 Adloeii 2 viRaed gsl Al AL AHAL A6
i udl........
(A) RUA 9.
(B) KRbBraua 9. i
(C) oh sl UBSR Rl ovguaai »ud dl s usadl € {
(D) A sAses(l Wiiell 2izaml yadl sl ¢l dl o gl 2€.
077. <A eulda oAssi uicw d AL
(a) PRV . (1) dL2is
(b) Ayl ; (2) BRRAAL
(c) [Russla (3) 2eRIEA
(d) GuRivis | 4) =il
(A) a-2, b-3, c-4, d-1 (B) b-1, a3, c-4, d-2
(©) d-3, c;l, a4, b-2 (D) a-4, b-3, d-1, c-2
078. Both the tiger and the leopard are cats; the former animal is much
larger than the .................. (late) g
(A) latter ‘ (B) later
(C) letar JD) letter
079. 2RI Asl AHsy 2UCRAL «APIRSL >Rl ciued wyel dd oaell 93
2 ddar AoRidl cruldl A ULAH AESA Sl gL AuR 5 usifEa
KA L? i
JA) sl «sidiad (B) éuigiaid
(C) e (D) «te
080. U Huoyd SR S50l olarYHD viaRl, AL vid v WA DA
HE2 s [N oS el dal wa 97
(A) AHQl Al A[EsR (B) Adlddledl s
(C) olarelln Guidl 2ifsR (D) Aldzusl vi[asR
081. o A 25 2isl 20 Bifacui oR 8. 4a B, 30 [leul eR 8. 40 A
g sul oue 10 M2 ugl 40 B vidami 2id 8, dl 205l eRridl
54 BIEERCIEN
(A) 20 \UB) 30
€) 12 (D) 16
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082.

ANRUA UsdHl A sz [reaid s anm (aizd) [reasidl ez

gl 97

(A) s breal, Aol [real, zaml aizst bredl, spdiz b

(B) Hlkoll bredl, oll2ie [Bredl, enaqiz [real, sauqaz (e

(C) zadilt arsl Bredl, enaqor Bredl, sz s [redl, »iuzdl
[oreal

(D) oll2te [Breadl, HRoll [real, =edl [real, yiepeoiz (el

083. «ld 2uud ausuuidl Al asdl g2 wel
sful ol olsl curdl wls W Ad oA el edl wd el 9y
Y ool W dd s 24,
(A) sRul ol olsl. wls W dd 049 el edi. el 4. w
WA dd s 2.
(B) cRul ol cludl. »ls WQRL dd odF 28dl. eldd @ »
QA dd S AU,
o€y sRul ol gl Ay o odd el edl sRuld Wi wl we
dd s . -
(D) sRUL oyl Algl. »ls Rt dd oAS el edl. e Heani w,
d WL V3R SBL Bl
084. <A culda odssi i <d oAdl
(a) YrRew sNled | (1) auRasl
(b) Sl EAUARIM (2) HelRAA
(c) suald ysall (3) s1s{leedl M
(d) Guueisk "l C(4) uemQdl Hidl
(A) a-1, d-3, b-4, c-2 (B) b-2, c-3, a-4, d-1
(€) c-1, a-3, d-2, b-4 (D) d-1, b-3, c-4, a-2
085. 26 a=yiil - 2016, GRAA AQUAARA MR WsRAL W HeHIA
A<y uHREL Siedel UHVd, AH Ul
(A) 3e5i5a wliawe AB) «lsiau zusixl
(C) stedln 2Aielar (D) sdloy wiiRlvlie
086. Change the degree :
Ashoka was one of the greatest kings.
(A) No other king was so great as Ashoka.
(B) Very few kings were as great as Ashoka.
(C) Ashoka was greater than any other king.
(D) Some other kings were as greater as Ashoka.
RTE-B | [13] | 1.0,
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057, ‘Hlcad woza’
(A) ~iFract 4417,
.}C, AL A1e

-.1«4%4 el ’Awf-a “1u '/L,(ug
(F5) =424 7414
(1) w= uzdls
088, Aaasidl 2 114-1 dlac1Z Ay
(A) S ,1417—
) AL 7420 ;wm (CFC)

- Y
. vr %y
Za

>, 7J.

(B) aljlz471 2194 (HFC)
(1)) A4 A4y

089. Azl Btseaii 10 a4E1 541 “AiHsl gzoml 524l 250 945 4a”
(A) 10% (B) 217,
(€) 33.1% (D) 27.1%

090,

A woaydl ul o wifay w44l
(A) A9 Al UA-Faudl sus - uer

(B) #dl «dl Tewit adl - Gz

(C) 2wl MisE - WAz

(D) € wadl v - 2o

091. 1 z4iaa sausi di A4 eadl,
(a) National Science Day
(b) World Environment Day
(¢c) National Energy Conservation Day
(d) World diabetes Day
(A) c-3, a-4, d-2, b-1
(C) d-1, b-3, a-4, ¢-2

(1) 14 December
(2) 5 June

(3) 14 November
(4) 28 February
(B) 2-3, d-1, b-2, c-4
(D) b-2, a-4, c-1, d-3

092, ®lzdddl “Aldzd Mm«u w26 oaeysidl 1930 Al (Faud Sl

Addd 5l o zaol o B ofls Goraami wuedl edl?
(A) 2azdl oqos e (2azdl wAlopaie)

(B) 2w [z (il 24w (o)

(C) .l’lg’d. sigenl (o (et Ftafz Ged)

(D) ‘Mid Bl i B (Sesaio [q)

093. Give the Noun form of :

dig
(A) digation (B) ditch
(€9 digestion (D) digth
RTE-B | :
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094, w1adl cua, e wied Ael, 6w euadl wid vizal E sl <ciasa
sledl wal ot AsRidl wsad B el ol v sz cgenaia
“Hlodl ugeat widlbar =gine’” sdld didln ol s slast oz

dct?
(A) LS et 3 (B) vy «lase
(C) HRed adeus (D) Hewsla ez

095. wdydl ad 14l ... fl a3 a9,

(A) oyl : (B) »ilow
(C) A2MoR (D) wilua

096. adol uka w12 (gl 9. wu [gei vl dieafogsin @ ddl
s2edl @A od?
(A) 66 B 132
(C) 96 (D) 144

097. <l oMl s voesyu woesladl sHHL B
(A) [eau, oy, epu, diél, [Eawi
(B) tllkoy, €lauoll, oy, [Eaw, @idl
(€) algl, feau, (zawil, ke, &2
(D) aigl, tllkey, (aw, (e, ewdt

098. 1A caldd sdssi ui <dd sAsl.

(a) . 4. mta (1) a2 @k
(b) i[®da otz (2) $dl
(c) SRedt HedaRl (3) elax
(d). [avier U (4) 2R wusa Yy
(A) a-1, b-4, d-3, c-2 (B) c-1, d-4, a-3, b-2
(C) d-2, a-4, b-3, c-I (D) b-4, c-1, d-3, a-2
099.  The novelist and poet .................. dead.
(A) are ' (B) were
“AC) is (D) have
100. ‘P’ oL | oAl 6 Al dvy 5197
(A) sdlidles €d (B) slidlest 21
(C) udlu (D) udln <4
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